Stat310 HW2 Solutions (100°)

5’
1.5-2 (a) P(ANB) = P(A)P(B)= (0.3)(0.6) = 0.185;
P(AUB) = P(A)+ P(B)— FP(ANB)
0.3+ 0.6-0.18
= {1.72,
P{AnB) 0
» —_
Wy FL 418 = P(B) 06
59

@ g (3) (3):

1.5-14 (a) 1 — (0.4) =1 — 0.064 = 0.936:
(b) 1 (0.4)* =1 — 000065536 = 0.09934464.

(B
L5-16 (a) >
L=l
1
F'

(b)
10°
1.6-2 (a) P(G)

PlANG)+ P(BNnG)
P{A)P(C|A) + P(B)P(G| B)
(L0 0R5) + (DGO 0.TEH] = 1T
E(ANG)

P&

(0.40)(0.85)
0.79

(b) PA|G) =

= (.43,



10°, 10°

1.6-8 Let A be the event that the VCR is under warranty.
(0.40)(0.10)

P(B.|A) - . _
(Bild) = 57467(0.10) + (0.30){0.05) + (0.20){0.03) & (0.10)(0.0)
40 10
= W 51612 63 05

P(B:|A) = é%:n.'zaa;

6
P(Bs|4) = o =0.095;

2 .
P(Bi|4) = = =0.032

=

1.6-10 (a) P(AD) = (0.02)(0.92) + (0.98)(0.05) = 0.0184 + 0.0490 = 0.0674;

0.0490 . 0.0184
= 0.727; P{A| AD) =
0.0674 A ) 0.0674

(0.98)(0.95) 9310
(0.02)(0.08) + (0.98)(0.95) 16 + 9310
PlA|ND) =0.002.
(d) Yes, particularly those in part (h).

(b) P(N|AD) =

=0.273;

(¢) P(N|ND) =

= ().908;
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2.1-2 (a)

= e

1.6,
filz) = { 0.3,
0.1,

& 5

(b}
fix)

0.64

0:57

1 2 3 4 5 & 7 & 4 1a

Figure 2.1-2: A Prabahility Histograim
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2.1-8 (a) Thespace of W is 5 = {0,1,2,3,4,5,6,7,8,9,10, 11},

PW=0)=PX=0Y=0)= é : % =15 asgning indepeondence.
= ¥
; . = 11 1
P{H’ =T =P — . — 1] - EE = E

. s
Continuing this, we see that fli) = P(W =w) = 19" w8,
{b} fix) 3
0.04 -
0.06
0.04
0.04
L

& 1 2 ¥4 5 & 5w
Figure 2.1 8: Probability histogram of sum of two special dice

10°

L), Q)
2.1-12 COoubdy = : 2 + I%‘l = .00
(5

OC(0.08) = e A

ae(n.12y = |

(4)(21) (1) 21)
OCO16) = LN\ AL/ g3




10°,5°,5°

B ) T S L T U
2.2-2 1 = 2;{1}=m+-;e(I-L§+§+E+5+E)
o=
— 2-
ST
2 1 gl 1 '
E{Payment) = E(l :+2~§43 E+=L-E+5-E = units.

2.2-4 B(X)=( -1}(%) + {m(é) m(%) — 0;

i af 4 8
s~ cor(§) or () er(5) -5

; ; 20
E(3X*—2X 4+ 4) =3(§-) oG = =

2.2-6 E(X) =$499(0.001) — $ 1(0.999) = —§0.50.

5,
15 21 -6 -1
2.2-12 {1} EE-I—{—].} m‘; =2 ﬁ = ?1
15 21 —{
I:IJI-E-F{—”'E =T g
o] 30 —0 = |
Wt T 5



